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1. The point P =(2, 1) is on the hyperbola xy=2.

Find the slope of the line tangent to the curve at
P. Start by letting Q be a point on the curve
whose x-coordinate is 2+h, where h stands for a
small number. Use algebra to calculate what
happens to the slope of line PQ when h
approaches zero.

2. (Continuation) The tangent line bisects the angle 1
F,PF, formed by the focal radii drawn from P
to F,=(-2, -2) and F, =(-2, —2).Find a \ T

way to show this. There are several methods
from which to choose.
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